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04 S AH2tE Al & H| 26,000 30,000 A 4,000
OAZ A soiE2 B P
13,000, 000& »23] 26,000
SHEFANL 29 105,640 38,647 66,993
101 14l 9,940 7,347 2,593
4 JI12ZtHZ22XEE+ 9,940 7,347 2,593
OELHEE NS 28 22X
2,780 18«80 3,423
o ZZaclde 29 2,780 +1H+90L 3,851
OZFSA U 2324 29 X
42,7803 1 60 2,567
OdMEE= 9,841,000& 1% 99
201 24l 7,000 5,400 1,600
02 =224l 7,000 5,400 1,600
OAIE ZHI S X 7,000
— XA (e A 6&)
100,000 *15& 1,500
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2N
X ZH -
L= B

el

= - 4 14
M- o9 (B H) - MEAY - B2 %Ei HR=2
— XML d2ErY WA
3,000,000 x13] 3,000
— EAAX™ HH|(ICPE 102)
100,000 x10= 1,000
—8Hils AHEY 100, 000& =5CH 500
— WEZE2PA HHI(PCR S 10E)
100,000& x10= 1,000
206 M = Hl 8,900 5,900 3,000
01 =4l 8,900 5,900 3,000
OXHHYA U 2324 2YME
200,000& x5 1,000
OZsg2IA FL2AID 29 W2
200,000 x10&+13l 2,000
OEYHUAWE 24 A L 424 HE 7
Q! 25,000 x50= *23| 2,500
Ouyl L AZH 24 A 7Y 500
O EETYE 24 Al & A24 M 2 500
O S=sTY 24 DNA Kit 7¢
800,000 *3set 2,400
207 I & 12,000 4,000 8,000
03 A& 32| 12,000 4,000 8,000
OZXA U M2 2= THbH 3,000,000& *23] 6,000
OZA A10A 2x=4A 2,000,000 *23| 4,000
O1NF0F =AML 2L 2,000,000 *13] 2,000
405 XHA&HF S HI 67,800 16,000 51,800
01 AL 2 FF S| 67,800 16,000 51,800
O LA ASH 22l i &8t 8 X
25,000,000& =1CH 25,000
OXZAHI LA ASH NEE4 & 2 HY|
3,000,000 *2= 6,000
OZSABY FUSHE Za2HZ) 2
25,000,000& =1CH 25,000
OSEHYEA RlIIA iz =5 &1
5,000,000 =2CH 10,000
O=sgZdd4a 2ttoiolge ¢ 450,000 *4CH 1,800
SIAHUYHAIE A 29 2 WIS 177,128 87,234 89,894
101 Q124 H| 25,413 8,472 16,941
04 JI2ZtHIZ2 2 NEES 25,413 8,472 16,941
OsJIHYUHAME A BX 42 780 x3%H 180 23,102
o402 23,102,000 *10% 2,311
201 et d| 99,615 53,962 45,653
01 AFR 22| H| 26,160 5,596 20,564
OsJAHYUAMYE A2 2¢
10,000 *70= *53] 3,500
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AN sg€II=4dH
BE: SAsE ARKE
&€ s8I (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OsJIHAUAME SHOIX,ZelAAE ADE
Y FY ¥ FAE= 100,000& = 12& 1,200
OZ ALY JHIEE AH O0l&Hl
2,500,000 » 14! 2,500
OYUAY SIIH ns=d 1,700
— 082U WM M= 1,000& 5008 500
—XEEMUII= B HA  6,0008 2005 1,200
OsIIHHAIY =clQ& 1=l 960
— &Y= 50,000 x6 % »2 =t 600
— &3 30,0003 x6H 22 360
OsJIHLHAIY EOtal & AlAHS XH= M
100,000& =104 1,000
2Zet= A Al 200,000 x1SET*4= | 800
OLUHAIHE AEHALIAH SXE
1,500,000 »30H & «3CH 13,500
O822I HolFASuUs dH8EH 7
10,000& 100 1,000
02 2324l 73,455 48,366 25,089
OYUsJIH SEg2Ea 10,000, 000& 1 10,000
OUsIAH «=2lE It 300
OsJIHA A B0-AHl 99,0003 x127H 2 1,188
OsJIHYUAMY 22 &H RFTUH(EAH 2)
1,722 %2504 =103l 4,305
OsJIAHYUAME >2FHA Y RFU
1,384 & %2004 =401 3 1,108
OSIAHALUAME H7MY SoE= 10,000
OA& &8s Xl 46,554
—ussds8 sIAH | 100,000& »25CH 2,500
— 2 U=I1AH =2l 100, 000 *400CH 40,000
—28FT A= 500,000& =23l 1,000
— CCTV & Hl Xl 100, 0002 »7CH 700
—H=+=&=ztHdal | 300,000& 4= | 1,200
— 283 22l KXY 500, 000& 23] 1,000
—2"ALIH HIIEA 2N
38,500& =4 CH 154
OAgALI|H 8o HHW=F 0
206 T2 HI 7,600 5,000 2,600
01 =8l 7,600 5,000 2,600
OsJIA UWegsel 85 2¢ 5,000
OSJIIALUAME LUHsIIH OFLFAE F
10,000& »200CH 2,000
OsgJIAs d&s2d WME,0A M8 =21
B M2 100,000& x4 3] 400
OsJIAHLUAME SEEIS M7
200,000& x13l 200
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AN sg€II=4dH
BE: SAsE ARKE
&€ s8I (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
207 Ao H| 15,000 0 15,000
03 A& & 24l 15,000 0 15,000
OZSMHHH LJASHAIY =& AR 10,000
OYT=IIH Heregor Al el
1,000,000& »54 5,000
301 e A= 800 0 800
09 HALAHIZB &S 800 0 800
OAEALIH BHoltENE TAE
200,000 »4H 800
OsIJIHSHAIY SE8IE =2 0
401 Al HI K 201 I 11,000 15,000 A 4,000
01 A& HI 11,000 15,000 A 4,000
OSAsSstHEZE F I3 A 100,000& 20 & 2,000
OsIIHSHAS A STHE X SA
2,000, 000% * 14 & 2,000
O AXE S A=A 2,000,000 104 2 2,000
OsJIAE 2 FSAE HIE SE3A
5,000,000 » 104 2 5,000
405 XtAHE SHI 17,700 4,800 12,900
01 AR ESFH S 17,700 4,800 12,900
OsIIHYHAIE A HME=ZY WA 2
500,000 = 1CH 500
OSIIHAAY S SHAUM HE 23
-+ 6,900
— 20,8 7Y 1,000,000 *1X 1,000
— 24y &80 2 300,000 20K 600
—d27| 300,000& »2CH 600
— et oA 1,000,000 =101 2 1,000
— A Ok 2 500,000& x54! 2,500
—d&¥n 500,000 1CH 500
— A A= 2 700,000& = 1CH 700
OsJIAnNEE HEs 257 6,800
—us ¥ 28 Yo 600,000 »1CH 600
—wNEs MY 200,000& 207K 4,000
—ws8 ok 5,000& *40H 200
—nNEs M 400, 000& =54 2,000
OsJIALUAME =clEHa 2 2,600
—2cl¥HE S42J(UE) 500,000& = 1CH 500
— ol EHE Yl 1,000,000& = 1CH 1,000
—=clZdE &3 300,000 *20H 2~ 600
— ol EH HYSE MEDII 500,000& = 1CH 500
O sIHYUAMY =2/EHE AUel=EI]
300, 000& »3CH 900
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AN sg€II=4dH
B =osE ARKE
Sl YSHYN CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HolSSEAHI =X 118,700 18,700 100,000
= 59,350
e 59,350
101 @124 dl 6,590 6,589 1
2 3,295
s 3,295
04 D12t Z2XREES 6,590 6,589 1
Ol HolE MEEZ 2 ALY
42,7803 1 140 5,990
= 2,995
e 2,995
o4t 2= 600
=2 300
s 300
201 YEt2 Ayl 5,700 5,500 200
= 2,850
[ia 2,850
01 At 2teltl 5,700 5,500 200
Ogt==&H| 4,000
—dais &M 222 ¥ WEEZ 2F HME 4,000
= 2,000
s 2,000
Ol dalls HNEE 900
- xo= 50,0002 x5 2 & 500
= 250
[ia 250
— &3 40,0003 x5H 22 400
= 200
s 200
Oogxz 800
—H gHols EE 2EIIH X
200,000 *43| 800
2 400
s 400
206 = Hl 6,410 6,611 A 201
= 3,205
e 3,205
01 MHZ 4l 6,410 6,611 A 201
Ol golls dea & EEL 283 72 2,510
= 1,255
s 1,255
Ogdis 22X 22 Mg #¢
300,000 * 1304 2 3,900
= 1,950
s 1,950
301 gt d= 100,000 0 100,000
= 50,000
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AN seIIsHE

MY So=E HRXGE

Helr AFASAIE (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
—SNER MA MEE 29 A 9K
5,000, 000& *3ha 15,000
& 7,500
2 7,500
—DNER MM WEE 29 S0 L (6
g) 9,500
& 4,750
2 4,750
—SNER MM HEX HE T AT
700,000& * 13l 700
& 350
a 350
202 044l 900 0 900
& 450
[ia 450
01 SLHOYI 900 0 900
O=¢ S8 Mo =d ol
60,000 *3H x53] 900
& 450
a 450
206 T2 H 2,100 0 2,100
2 1,050
s 1,050
01 MHZ 4l 2,100 0 2,100
028 52 M4 YEZ 29 Y2 UM
el 108) 700,000& *3ha 2,100
& 1,050
s 1,050
301 LerEa = 3,600 0 3,600
2 1,800
s 1,800
09 &AL HI B &S 3,600 0 3,600
O2 S2 MAEX SI DS ZAE
500, 000& 32 1,500
= 750
i 750
O=MSE MAMHI sJF s 4|
7,000& 100 »32] 2,100
= 1,050
= 1,050
401 Al HI L 2T 109,000 0 109,000
& 54,500
ia 54,500
01 A& HI 104,000 0 104,000
OIS ML HEE 2 ML (EAHEZE) 104,000
& 52,000
s 52,000
02 Zeltl 3,510 0 3,510
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2N
X ZH -
L= B

el

Sod| 2 HE
SYsE MINE

ARASAIE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=¢sE i WEE 2E A& 22l 3,510
= 1,755
i 1,755
03 Al 2 THHI 1,490 0 1,490
O=UUSE di WEEZ 23 M4 2UHYI 1,490
& 745
e 745
402 RIZEX20| A 175,000 0 175,000
2 87,500
i 87,500
01 RIZERt 22X 175,000 0 175,000
O=¢ts s Mo xd 1,100, 000& *50ha 55,000
= 27,500
s 27,500
O=4sSE I3 - RSEHM &4 &
1,000& %120, 0005 120,000
= 60,000
[ia 60,000
405 THabH S| 40,000 0 40,000
& 20,000
i 20,000
01 AR ESFH S 40,000 0 40,000
O3MSE MM WSE 29 XNAHX FL(BE)
40,000,000 = 1CH 40,000
= 20,000
s 20,000
s AR Hg 87,740 103,008 A 15,268
101 @124l 3,890 3,458 432
VBIEEEP TP 3,890 3,458 432
O&AE ESZ SAE 29 22X
42,780 *2H 302 2,567
OdMEEZ 2,567,000& 1% 26
O ASANEE 29 2
42,7803 «1H +30 1,284
OLMHEEZE 1,284,000& 1% 13
201 -4 2,800 2,800 0
01 At 221 800 800 0
OO0rd st MAlgl & dXzE 200,000& *43| 800
02 =224l 2,000 2,000 0
OZX - 070t =3 MU 24 RAE=
2,000,000 » 104 2 2,000
206 M= Hl 8,350 10,750 A 2,400
01 =8l 8,350 10,750 A 2,400
O0rda 4 & MAHE 250,000& »15& 3,750
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2N

SIS dH

MY So=E HRXGE
Sl HTASAY EREED
= - 4 14
SN EE B (BH) - HRAY - BES e Hl D= 2t
OO0r st & &HASH =
300,000& »73] *21t & 4,200
O=stus sz 200,000& »23| 400
207 A RO H| 16,000 ,000 10,000
01 g8 10,000 0 10,000
O&Atet Jisd =2 10,000
03 Al & 11 Hl 6,000 ,000 0
OMASHESZ 24 3,000,000& x2% = 6,000
301 et A= 3,500 , 100 1,400
09 HALAHIEA S 3,500 , 100 1,400
O=stus ZA=+=& 200,000& +73| x 11t & 1,400
O& ALt - OrMst s ZA+=E
200,000& +73| x 11t & 1,400
O¢73l A& & 7,000 #25% x4t & 700
402 RIZ2FX201 ™ 53,200 ,900 A 24,700
01 RIZEAI2E X 53,200 ,900 A 24,700
OaAtst 2 g SMEEsSIHEE AlY
5,000,000& 2= Dt 10,000
OZX, 070 34 ANE=sI 4
,000,000& *2& Jt*60% 20,400
OMHE S| A Al =4
,000,000& *47H & *60% 16,800
OEltE 22 2
,000,000& *27H 2 *60% 6,000
ANEES RS e =4 21,470 ,298 13,828
101 @124 dl 6,050 ,378 3,672
04 JIZHHZ2XREES 6,050 ,378 3,672
=SF el AIEE 22 42,7803 x5H 52 1,070
O20 AIgZE 22l 42,7803 x3H x5 642
OZA SEXNAZ 2te| ANEATREX
42,7803 10 =10 4,278
OHtTHEE Z 5,990, 0002 * 1% 60
201 Let2d] 900 900 0
01 At 22l 900 900 0
OEst&as 4SAE QSRS
50,0002 =104 500
OEst&s ASAERE 29 Fd X
200,000& x23| 400
202 oddl 540 540 0
01 = LH o4 1l 540 540 0
OSs&E= g = 60,0003 x3H 3 540
206 = Hl 600 0 600
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2N
X ZH -
L= B

el

Sod| 2 HE
SYsE MINE

ARASAIE

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 =8l 600 0 600
O2U ,==tlcl dSAgE SIS
200,000& 23 400
OZA REXNEE 22 W& 200,000 135 200
207 AR 4,000 12,500 A 8,500
03 Al & 12 HI 4,000 12,500 A 8,500
OZAl SAY AgHA 2,000,000& *x2& 4,000
301 g2 4= 980 980 0
09 HALAHIEA S 980 980 0
OSaAS HAl & Botsl 424
7,000& «70H *23] 980
402 RI2EX=201 M 8,400 18,000 A9,600
01 22t 22X 8,400 18,000 A 9,600
OEZHel ST B2 MY
10,000,000 = 17H A x60% 6,000
OZ& 288 |RMEXN EE AlY
4,000,000& =100 2= *60% 2,400
Sl 45 HP 40,000 30,000 10,000
403 UHXISHHE X201 & 40,000 30,000 10,000
02 I 2SO0l CH&HCH & AF & HI 40,000 30,000 10,000
OBel 9PN 8 XXM 2L2(3EX) 40,000
S ARSI 200,720 11,070 189,650
= 100,000
= 20,000
s 80,720
SANUSEFIXS AL 200,000 0 200,000
= 100,000
< 20,000
s 80,000
201 L2l 70,000 0 70,000
= 35,000
S 7,000
i 28,000
01 At 2t 2l 30,000 0 30,000
OFsHE 222 M 20,000
= 10,000
< 2,000
[ia 8,000
OFsHE 923 E 29 £ DMHME 10,000
= 5,000
< 1,000
e 4,000
02 2322l 5,000 0 5,000
OZAQ s2XHE2 SR 2el 5,000
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SH: SIIBHE
HE: sYUsE HAXE

=]

ST

ohelr TASRXI o &)
= - — SHE|
SN HH-S(BN) - MBAY - B e 2

= 2,500
< 500
e 2,000

A2 H I 35,000 35,000
OZAB X8 5,000,000& =23l 10,000
= 5,000
< 1,000
s 4,000
OZA AsusEd MEgzsz1y 249 25,000
= 12,500
< 2,500
[ia 10,000

(1] 5,000 5,000
= 2,500
< 500
i 2,000

01 = LH o4 1l 5,000 5,000
OEANBRX 2= 0l 5,000
= 2,500
< 500
s 2,000

W] 5,000 5,000
= 2,500
< 500
s 2,000

M = 8l 5,000 5,000
OFsHE dE2d3nE M= 5,000
= 2,500
< 500
[ia 2,000

QoS a3 5,000 5,000
= 2,500
< 500
i 2,000

HALAHIE &= 5,000 5,000
OFsHE dEdstus FAZH 3,000
= 1,500
< 300
s 1,200
OFsHE dE2dstus A+ 2,000
= 1,000
< 200
e 800

gIztol & 50,000 50,000
= 25,000
< 5,000
e 20,000

QIAMERZ 50,000 50,000
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AN seIIsHE

MY So=E HRXGE

CHolt TAIRISX (298 R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OEANBSX XNJAHH 29 15,000
= 7,500
< 1,500
s 6,000
OAsHE 24X e XJ 5,000,000 *23] 10,000
= 5,000
< 1,000
e 4,000
OFsHE AEEEY 2 X& 10,000
= 5,000
< 1,000
s 4,000
OFsHE sE3sH 243 XA 8,000
= 4,000
< 800
[ 3,200
OXN<gely stot=2tal XA 7,000
= 3,500
< 700
= 2,800
401 AlEHI 2 2 0hI 45,000 0 45,000
= 22,500
= 4,500
s 18,000
01 A& Hl 45,000 0 45,000
OZAlE dAFAHAS2H =4 45,000
= 22,500
< 4,500
e 18,000
402 RIZER20| A 15,000 0 15,000
= 7,500
< 1,500
i 6,000
01 22t 22X 15,000 0 15,000
oAl s sdX& 15,000
= 7,500
< 1,500
[ia 6,000
405 THobH S| 5,000 0 5,000
= 2,500
< 500
s 2,000
01 XML =2 S FH S| 5,000 0 5,000
OZANYUKRX XNAEH HSFE 5,000
= 2,500
= 500
= 2,000
CANUSESII ALY 720 11,070 A10,350
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SA: S s
M. Co=E GO
Sl TABISX
- ; _ 11-;'
SA - EH . B9(3) - NRAY - B = i
= 720 720
01 2L 0t | |
FHEA EH R 52
60,0002 28 x6 720

OZ AR
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